VIKING LLC PARTSLIST FOR DRAIN DISPENSERS - Updated 7/2/24

COVERS PRO DRAIN CHIEF (PDC), PRO SCENTNAL, & BATTERY DRAIN CHIEF (BDC)

PARTSRELATED TO THE CASE:

DESCRIPTION

PART NO.

USED
PDC(P)
BDC(B)

SCNT(S)

UOM ORALL

2 PUMP CASE BOTTOM ONLY

[ Mop |ProcASE

[mss| Ea | AL

NOTE: IF ORDERING A CASE FOR A BATTERY UNIT, SPECIFY THIS SO THAT

WE CAN DRILL HOLES FOR THE BATTERY CARRIER.

2 PUMP LID ONLY MOP [PROLIDS ma7 | EA | ALL
2 PUMP BOARD CARRIER MOP [PROCARR mas [ EA | Pas
PRO DRAIN CHIEF BOARD & TIMER MOUNTING PLATE ONLY MOD |[DCCARR mor [ EA | P&s
PRO HINGE PIN MOP [PROHING mad | EA | ALL
PRO LID PROP MoP [ProPrROP ms2 [ EA | P&s
PRO LOCK, KEY AND SPEED CLIP CxP |PROLOCK 000 | EA | Pas
BLACK PLASTIC LOCK MoP [pLASLOC nss | EA | BDC
PUMP HOUSING TO CASE / FACEPLATE SCREWS CHA [8x1/2ss 000 | EA | ALL
BLACK 1/2" NPT COMP. STRAIN RELIEF FITTING CWA [DRYCLMP 000 | EA | Pas
MOLDED 1/2" NPT PLUG FOR BOTTOM OF CASE MOP [CASEPLG meo [ EA | ALL
PRO DRAIN CHIEF LABEL CXs |LABLPDC 000 | EA P
PRO SCENTNAL LABEL cxs |LABLPSC 000 | EA s
PRO BATTERY DRAIN CHIEF LABEL Cxs |LABBAT 000 | EA B
USED
PDC(P)
PARTSRELATED TO THE PUMP HOUSING: BDC(B)
SCNT(S)
DESCRIPTION PART NO. UOM ORALL
1 PUMP HOUSING MOP [PR1PMHS mat | EA | ALL
PRO WHITE ROLLER ASSEMBLY VOP [ROLPRO vaa | EA | ALL
PRO FELT PUMP PAD cxp |PuMPPAD 000 | EA | ALL
MOTOR MOUNT SCREWS - 8-32 X 3/8" CHA [832x3/8 000 | EA | ALL
1/4" BARB X 1/4" COMPRESSION FITTING MWA [BARB1414 | AD7| EA | ALL
1/4" PRO SQUEEZE TUBE BLOCK - LEFT MOP [1/4BLKL m3t| EA | ALL
1/4" PRO SQUEEZE TUBE BLOCK — RIGHT MOP [1/4BLKR ma2 | EA | ALL
#6 X 1/2 POLYFAST SCREW (FOR 1/4" TUBE BLOCKS) CHA [6x1/2PL 000 | EA | ALL
1/4" JACO COMPRESSION NUT (ONE PIECE) CHA [114P3Ac 000 [ EA | ALL
1/4" PRO SILICONE TUBE WITHOUT ENDS (8") VOP [1/4s1-E v2s [ EA -
1/4" PRO VITON TUBE WITH WITHOUT ENDS (8”) VOP [1/4v-E v26 | EA -
1/4" PRO NORPRENE TUBE WITHOUT ENDS (8") VOA |LNTUB-E vo7 [ EA -
1/4" PRO SANTOPRENE TUBE WITHOUT ENDS (8") VOP [1/4sN-E vi2 | EA -
1/4" PRO SILICONE TUBE WITH ENDS COMPLETE VOP [1/4SIEN v33 [ EA -
1/4" PRO VITON TUBE WITH ENDS COMPLETE VOP [1/4VEND v2r | EA -
1/4" PRO NORPRENE TUBE WITH ENDS COMPLETE VOA |[LNTUBWE | ves | EA -
1/4" PRO SANTOPRENE TUBE WITH ENDS COMPLETE VOP [1/4sANT v1i| EA -
3/8" PRO SILICONE TUBE WITHOUT ENDS (8") VOP [3/8sI-E ves | EA -
3/8" PRO SILICONE TUBE WITH ENDS COMPLETE VOP [3/8SIEN veo [ EA -
3/8" PRO NORPRENE TUBE WITHOUT ENDS (8") VOP [3/8N-E vi7 | EA -
3/8" PRO NORPRENE TUBE WITH ENDS COMPLETE VOP [3/8NEND vis [ EA -
PRO CLEAR FACEPLATE ONLY MOP [PROFACE mis [ EA | ALL
PRO FACEPLATE BEARING ONLY MOP [FPBEAR mod [ EA | ALL
PRO FACEPLATE WITH BEARING COMPLETE VOP [FCEBEAR vaa [ EA | ALL
BATTERY SPACER FOR PUMP HOUSING MOP [BATSPAC N56 | EA B




USED

PDC(P)
MOTORSAND COMPLETE PUMP HOUSINGS: BDC(B)
SCNT(S)
DESCRIPTION PART NO. UOM ORALL
2884 (24 VOLT DC 60 RPM) MOTOR - 4 0Z/MINUTE CMP [2884MOT 000 | EA B
2882 (120 VOLT AC 30 RPM) MOTOR — LOW SPEED 4 OZ/MINUTE CMP [2882MOT 000 | EA P
2885 (120 VOLT AC 120 RPM) MOTOR — HIGH SPEED 18 OZ/MINUTE CMP [2885MOT 000 | EA | P&S
PDC LOW SPEED SILICONE PUMP HOUSING POD |PMPDCLE P21 | EA P
PDC / SCENTNAL HIGH SPEED SILICONE PUMP HOUSING POD |PMPDCHE P19 | EA | P&S
PDC LOW SPEED VITON PUMP HOUSING POD |PMPDCLS P22 | EA P
PDC / SCENTNAL HIGH SPEED VITON PUMP HOUSING POD |PMPDCHS P20 | EA | P&S
BATTERY DRAIN CHIEF SILICONE PUMP HOUSING COMPLETE POP [BATDCPM P22 | EA B
USED
PDC(P)
CIRCUIT BOARDSAND TIMERS: BDC(B)
SCNT(S)
DESCRIPTION PART NO. UOM ORALL
PRO DRAIN CHIEF / SCENTNAL BOARD COMPLETE BOA |DCHIEFB B7A| EA | P&S
PDC / SCENTNAL 1-75 SECOND RUN TIME "FOOD" BOARD SPECIAL BOA [FOODBDP B8A| EA | P&S
24 HOUR 120 VAC ELECTRO MECHANICAL TIMER FOR PDC/SCENT. CTD [120DDCT 000 | EA | P&S
24 HOUR TIMER MOUNTED ON BOARD / TIMER CARRIER VOD [DCRETRO Vol | EA | P&S
7 DAY 120 VAC ELECTRO MECHANICAL TIMER FOR PDC / SCENT. CTD [7DAYTMR 000 | EA | P&S
BATTERY DRAIN CHIEF 12 VDC DIGITAL TIMER CTD |BAT24HR 000 | EA B
USED
PDC(P)
HARNESS & BATTERY COMPONENTS: BDC(B)
SCNT(S)
DESCRIPTION PART NO. UOM ORALL
PRO DRAIN CHIEF / SCENTNAL HARNESS COMPLETE CHD |DCHARN 000 | EA | P&S
BDC BATTERY CARRIER WITH BRASS STRIPS AND VOD |BATCAR V33 | EA B
ALL WIRING HARNESS COMPONENTS COMPLETE
6 X 3/8 TYPE A SCREWS (FOR MOUNTING ABOVE CHA |6X3/85S [ o0 [ EA | B
ASSEMBLY TO CASE)
USED
PDC(P)
HARDWARE AND ACCESSORIES: BDC(B)
SCNT(S)
DESCRIPTION PART NO. UOM ORALL
SPECIAL VIKING DIP TUBE FOR 1/8 & 1/4 OD SUPPLY [ vos |oipspec [ s13 | Ea | -
TUBING - 18" piece of gray PVC 3/8" Sch. 80 pipe with a pigtail strain relief fitting
that accepts 1/8" OD or 1/4" OD supply tubing.

1/4" TUBE STIFFNER DEM (813121 _ 000 | EA ALL
1/4" JACO COMPRESSION NUT (ONE PIECE) CHA |1/4PJAC 000 | EA ALL
3/8" JACO COMPRESSION NUT (ONE PIECE) CHA |3/8NJAC 000 | EA -
SCREW AND ANCHOR PACK (2 EACH WALL CHA |SCRWANC 000 | EA ALL

ANCHORS AND 1" PHILLIPS HEAD SCREWS)




USED

PDC(P)
HARDWARE AND ACCESSORIES CONTINUED: BDC(B)
SCNT(S)
DESCRIPTION PART NO. UOM ORALL
15' ROLL OF 1/4" OD PE SUPPLY TUBING CBA |[1/4-15' 000 | EA ALL
50' ROLL OF 1/4" OD PE SUPPLY TUBING CBA |1/4-50' 000 | EA ALL
3/8" OD BULK SUPPLY TUBING (SPEC. QTY. IN FEET) CBA |66PTUBE 000 | FT -
3/8" OD SUPPLY TUBING - 15' ROLL CBA |.375X15 000 | EA -
1/8" MNPT X 1/4" COMPRESSION PLASTIC INJECTION FITTING CHA |1/4X1/8 P01 | EA ALL
1/8" MNPT X 1/4" COMPRESSION BRASS INJECTION FITTING CHJ |1/4STBR 000 | EA -
1/8" MNPT X 3/8" COMPRESSION PLASTIC INJECTION FITTING CHJ [1/8x3/8 000 | EA -
BRASS SPRAY NOZZLE ASSEMBLY FOR PRO SCENTNAL VOA |BRNOASY V65 | EA S
6 VDC SPRING TOP BATTERIES CBD |6VBAT 000 | EA B
110 VOLT PLUG IN ADAPTOR KIT FOR BATTERY DRAIN CHIEF VOA [110TRAN VIA| EA B

VIKING LLC
A DEMA Company

512 Industrial Road, Nesquehoning, PA 18240 USA

Tel: 570-645-3633 or 800-441-1343 (US Only) Fax: 570-645-3679 www.thevikingbowl.com




